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+ Time allowed — 50 minutes
+  Write using black or blue pen
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» Attempt all questions
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Question 1 (12 marks)

" Answer on the pad paper provided

" Write your name and your teacher’s name at the start of each question
= Start each question on a new page

" Clearly label each question
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The three points A(2,~1) , B(-2,3) and C(4,5) form a triangle.
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-Find the coordinates of P, the midpoint of BC.

Show that Q, the midpoint of AB lies on the y axis.

Find the equation of PQ.

Show that PQ || AC

Show that AC is twice the length of PQO.

Consider the following graph:

NOTTO
SCALE

Does this graph represent a function? Explain your answer.

State the domain and range of y =16-x".
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Question 2 (12 marks)

START A NEW PAGE
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@ Given f(x)=x"-x,find f(2)

(i) Show that f(x)=x’-x is an cdd function.

Sketch the following graphs, showing all important features.

Use at least one third of a page for each sketch.

@ y=[x-
@) y=57+1
_ -3
(i) y_x—6

Shade the region defined by y = -x* +4x~3 and y>x-3

Question 3 begins on the next page ...
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Question 3 (8 marks)

+ START ANEW PAGE

Marks
(a)  Find the exact value of x, giving reasons.
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(b) ABCD is a parallelogram and BY = DX,
A Y M B
> Y
# >
D X c
()  Bxplainwhy ZADX = ZCBY . 1
(ii)  Show that AADX = ACBY . 3
(iiiy Hence prove that AX ||YC. 2
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